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E . Grey line: exponential fit Peak flux: 3.188+/- 0.035 c/s/cm? E
Black line: power law + gauss fit Fluence : 70.52+/- 0.82 c/cm?
B Dashed line: power law Duration 78. 854/ 1'57 s 7
= Best fit model: 3. =
B Best fluence model: 3. .
- \w “, Best duration model: 3. _
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; Exponential fit é
= Expon.time: 23.83+/- 0.41s (chi>-red= 23.32) =
3 + E
E * | M:ﬁ WH m iy i * .
= Py T g Fprg ! i =
Eoob ot AT $ i | =
& | O b ot + Lt 00T e
S ST T : | ﬁ LT @ﬂﬂﬁw [ j: AN
S WHW 1 Ll f f HE TR THE 3
= ol =
= f 3
; Power law fit é
E Power law index: -1.341+/- 0.006 (chi*-red= 7.40) =
; bt bt é
= I i * E
oo | A =
= Uil L b b + o bt bt i
SR L WAL b gt gy R FEERCTR ]
= b AR T R AT R AT
- N A LT LR B LET:
= i =
i T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 55.76+/- 0.57 s, fracgs= 0.27+/- 0.01) =
- Power law index: -2.058+/- 0.031 (chi*-red= 3.79) 3
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